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ORNeYLRENY| 4,200
MPES(FOUMEXI)(ASEX /I ZHEEE) 1,715,630 1,682,719 32,911
WEAHAXI= 1,402,172 1,411,429 N9, 257
LHEAHH K= 1,402,172 1,411,429 N9,257
701 JIEIZ HSHEZ 1,402,172 1,411,429 N9,257
01 JIEIS HEE2 1,402,172 1,411,429 N9,257
O9z20 &=Hl S 1,402,172
=PSPONE 313,458 271,290 42,168
BAX=S 313,458 271,290 42,168
802 Btat=J| Ef 313,458 271,290 42,168
01 2DEX2HtaE 2 255,859 188,958 66,901
OXNEESA E43t 150
O2sXA 1,000
O S &AL 22l AF 8,000
O23=sXN 8EHAH WA 300
OXEXa 120,000
OJIAI2ZEE Y 2 13,000
OO L Rtel 4,824
Okoldxtel 11,529
OX S AN HHIAEX} 10,594
OJlz=Me & 85,575
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SN
- - =
HY: YRS (FUMEXNAN)(MESN/IIEZSERE)
X =

=

ool 2

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
SEAM=X2 LEDS 1Al 887
02 Al - SHIEXSEHEZ 57,599 82,332 A 24,733

OXN&SAt 43t 100
OFF=DNE| 125
OMEISXIAE SAX =& 1,000
Os|e kel 7= 300
OX&XI& 23,000
OIA2ZHEE R 1,000
O&oper xtel 1,426
Ol Rtel 3,459
OXI S Atal MHI A S T+ 794
OJI=desd 25,395
O=gs3X 2zl 1,000
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